
Kearney OEE training

Overview and application
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TEEP = Total Effective Equipment Performance
OEE = Overall Equipment Effectiveness

For measuring 
efficiency there 
are two main Key 
Performance 
Indicators – OEE 
and TEEP

Source: Client; Kearney

Exemplary

TEEP = Net Time used / 
Total available Time

OEE = Net Time Used / 
Scheduled Operating Time

Total Available Time 365 days – 24 hours

No 

production 

scheduled
Scheduled Operating Time

No production scheduled

– Loss from shift model, weekends & plant closures

– Free shifts (e.g., night shift for 2-shift model)

– No planned production (lack of demand)

Net Operating 

Time
Speed 

losses

Speed losses

– Reduced equipment speed

– Quick adjustments

– Small disturbances

Net 

Time 

Used

Quality

losses

Quality losses

– Production of defective goods & rework

– Start up & turn-off losses

– Reduced yield

Up-Time

Unplanned & …

– Repairs

– Disturbances

– Lack of material

Un-

planned

down-

time

Planned 

down- 

time

… planned downtime

– Change-overs & set-ups

– Breaks, meetings & training

– Planned maintenance & cleaning

Losses
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OEE ApproachOEE analysis 
consists of three 
steps – current 
state OEE, root 
cause analysis 
and estimating 
financial impact of 
improvements – Collect existing production 

loss data and understand 
loss categories

– Calculate each element of 
OEE – ie. Downtime, 
throughput and quality

– Calculate OEE at machine 
level/line level/plant level

– Understand root 
causes of downtime, 
throughput and 
quality losses

– Conduct workshops 
with and identify 
solutions 

– Develop 
comprehensive 
action plans and set 
target dates

– Develop a 
performance 
improvement  
trajectory for each 
line

Baseline Current 
State OEE

Conduct Root 
Cause Analysis 

and  Identify 
Solutions

Estimate 
financial impact

– Estimate financial 
impact as a result of 
OEE improvements

Use the OEE 
Calculation tool you can 
find under “Templates 
and Blueprints”

Requires internal 
working sessions, and 
improvement 
identification
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Calculate various elements of OEE as 
shown using our OEE calculation tool

Total 24x7 
Output

No Demand Max Output 
(SOT Base)

Scheduled 
Shutdown

Max 
Scheduled 

Output 
(OEE Base)

Availability 
Loss 

(Downtime)

Throughput 
Loss

Yield Loss Actual Output

OEE =30% = (1-34%) x (1-54%) x (1-2%) 

34%

OEE Calculation Example

54% 2%

Max output @ rated 
speed with 24x7 

operation
Eliminate holidays, 

days with no 
demand

Coffee/Lunch Breaks + 
Scheduled Major 
Maintenance (any 

scheduled downtime). 
Remaining time is base 

for OEE

Eliminate other 
downtime losses 

(breakdowns, 
unscheduled maint., 

equipment related etc.)

Throughput = Demonstrated 
Speed/ Rated Speed. 
Demonstrated speed 

obtained from actual units 
and time

Remove output that 
is lost due to scrap 

(scrap %)

Illustrative

Use the OEE 
Calculation tool you can 
find under “Templates 
and Blueprints”



This document is exclusively intended for selected client employees. Distribution, quotations and duplications – 
even in the form of extracts – for third parties is only permitted upon prior written consent of Kearney.

Kearney used the text and charts compiled in this report in a presentation; they do not represent a complete 
documentation of the presentation.

Thank you

Philipp Muender 
Manager, Kearney 
Philipp.Muender@kearney.com
+49 175 2659638

https://www.linkedin.com/company/kearney
https://www.instagram.com/kearneyofficial/
https://twitter.com/Kearney
https://youtube.com/Kearney
https://www.facebook.com/Kearney/
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